Midterm-b; Finance 5360;  Summer, 1998

Name  ​​​​​​​​_____________________________________

1.  Use the following information and the attached information from Hershey Foods Inc’s 10-k to calculate the NOPAT for use in calculating Hershey’s 1997 EVA.  Note that both the financial statements and the information given below are in thousands.

1) Intangible assets resulting from business acquisitions principally consist of the excess of the acquisition cost over the fair value of the net assets of businesses acquired (goodwill).  Accumulated amortization of intangible assets resulting from business acquisitions was $116,500 and $100,000 as of December 31, 1997 and 1996, respectively.

2)  Research and development costs were as follow:  97=27,500; 96=26,100; 95=26,200; 94=25,800; 93=24,600; 92=22,400; 91=23,500.  These  costs are included in selling, marketing, and administrative expenses.

3) The Corporation values the majority of its inventories under the last-in, first-out (LIFO) method and the remaining inventories at the lower of first-in, first-out (FIFO) cost or market.  The adjustment to convert from LIFO to FIFO was $88,831 in 1997 and $77,611 in 1996.

4)  Cash taxes paid were $181,377 in 1997 and $180,347 in 1996.

5)  For 1997, net interest expense consisted of an interest expense of $79,138 and interest income of $2,883.  For 1996, net interest expense consisted of an interest expense of $52,036 and interest income of $3,993.

2.  The return on Speedy Inc. for the past three years has been as follows.



Speedy
S&P500
1995
-30%
3%

1996
25%
32%

1997
12%
27%

a.  What is Speedy’s beta?

b.  If the return on T-bills is 4.6% and the market risk premium is 8.2%, what is Speedy’s required return?

c.  If the past three years’ returns are representative of the returns that can be expected on Speedy in the future, what must happen to Speedy stock for it to be in equilibrium?

3.  Information Overflow Inc. has assets with a current market value of $120 million and debt that matures 5 years from today for $170 million.  Information is considering investing in a project with a 10-year life that would cost $40 million and which would have a net present value of $5 million.  Undertaking the project would cause the standard deviation of returns on the company’s assets to fall to 34.9%.  The project would be funded with $10 million of cash and would raise the additional $30 million through a stock offering.  The continuously compounded annual returns on Treasury securities are:  1-year = 5.52%, 5-year = 5.60%, 10-year = 5.72%, 20-year = 5.67%.  The current market value of Information’s stock is $36.8 million. Show whether or not stockholders will be in favor of undertaking the project?  Explain the intuition behind your answer.

4.  Blink ‘n Over Inc. established an EVA bonus system for employees beginning with 1996.  Blink set a target EVA for 1996 of $200 million and will determine all subsequent targets using Harnishfeger’s self-adjusting target method.  In setting EVA bonuses, the EVA leverage factor is $100 million.  In order to reduce the incentive to make short-sighted decisions, Blink will use a bonus bank system.  Under this system, 35% of the bank’s beginning balance will be paid out each year.  In addition, only 40% of the current year’s bonus will be paid out while the remaining 60% is deposited into the bank.  Blink’s CEO, Bill Blink, has a target bonus of $250,000 (for both 1996 and 1997) and was given an initial bank balance (at the beginning of 1996) of $400,000.  Blink’s EVA in 1996 was $50 million but climbed to $350 million in 1997.  What were the actual EVA bonus payments made to Blink’s CEO in 1996 and 1997?

5.  Your firm is considering opening a buffalo grass farm. The first buffalo grass harvest (which will provide net cash flows of $150,000) will occur 1 year and 5 months from today.  Additional harvests will occur quarterly for 30 quarters, and sales are expected to increase by 2% per quarter.  On the date of the last harvest, the farm will be sold for $10 million.  If the required return on the project is 9.8% per year, what is the most your firm should pay for the farm today?

                          HERSHEY FOODS CORPORATION

                          CONSOLIDATED BALANCE SHEETS

DECEMBER 31,                                               1997        1996

- -------------------------------------------------------------------------------

IN THOUSANDS OF DOLLARS

ASSETS

CURRENT ASSETS:

  Cash and cash equivalents                             $   54,237  $   61,422

  Accounts receivable--trade                               360,831     294,606

  Inventories                                              505,525     474,978

  Deferred income taxes                                     84,024      94,464

  Prepaid expenses and other                                30,197      60,759

                                                        ----------  ----------

    Total current assets                                 1,034,814     986,229

PROPERTY, PLANT AND EQUIPMENT, NET                       1,648,237   1,601,895

INTANGIBLES RESULTING FROM BUSINESS ACQUISITIONS           551,849     565,962

OTHER ASSETS                                                56,336      30,710

                                                        ----------  ----------

  Total assets                                          $3,291,236  $3,184,796

                                                        ==========  ==========

LIABILITIES AND STOCKHOLDERS' EQUITY

CURRENT LIABILITIES:

  Accounts payable                                      $  146,932  $  134,213

  Accrued liabilities                                      371,545     357,828

  Accrued income taxes                                      19,692      10,254

  Short-term debt                                          232,451     299,469

  Current portion of long-term debt                         25,095      15,510

                                                        ----------  ----------

    Total current liabilities                              795,715     817,274

LONG-TERM DEBT                                           1,029,136     655,289

OTHER LONG-TERM LIABILITIES                                346,500     327,209

DEFERRED INCOME TAXES                                      267,079     224,003

                                                        ----------  ----------

    Total liabilities                                    2,438,430   2,023,775

                                                        ----------  ----------

STOCKHOLDERS' EQUITY:

  Preferred Stock, shares issued: none in 1997 and 1996        --          --

  Common Stock, shares issued: 149,484,964 in 1997 and

   149,471,964 in 1996                                     149,485     149,472

  Class B Common Stock, shares issued: 30,465,908 in

   1997 and 30,478,908 in 1996                              30,465      30,478

  Additional paid-in capital                                33,852      42,432

  Cumulative foreign currency translation adjustments      (42,243)    (32,875)

  Unearned ESOP compensation                               (28,741)    (31,935)

  Retained earnings                                      1,977,849   1,763,144

  Treasury--Common Stock shares, at cost: 37,018,566 in

   1997 and 27,009,316 in 1996                          (1,267,861)   (759,695)

                                                        ----------  ----------

    Total stockholders' equity                             852,806   1,161,021

                                                        ----------  ----------

    Total liabilities and stockholders' equity          $3,291,236  $3,184,796

                                                        ==========  ==========

